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Console.WriteLine(6+5);
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Console.WriteLine("------ family size in IRAN ------ ");

Console. WriteLine ("Enter Population:");
long populate = long.Parse(Console.ReadLine());

Console. WriteLine ("Enter number of family :");
numFamily = long.Parse(Console.ReadLine());

float familySize = populate / numFamily;
Console.WriteLine("family size in IRAN: "{0}, familySize);
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float familySize = (float) populate/numFamily;
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Console.WriteLine (" ------ Final Price------ ");

/IGet the First Price
Console.Write ("\nEnter Pricel:");
float Pricel= .....ccccevvvivernriereenens :

//Get the Second Price
Console.Write ("\nEnter Price2:");
float Price2= ...cccvvvvieiieeeen X

//Get the Third Price
Console.Write ("\nEnter Price3:");
A PIICES = ettt et et e e e e e e X

//Get the fourth Price
Console.Write ("\nEnter Price4:");
oAt PIrICEA = e e e e e ;
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/[Calculate the Discount
float discount = pricel+ price2 + price3* 10/ 100 + price4* 70 / 100;
Console.Write("\n *** final Discount ="+ discount);
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int count101, count102;

Console.Write("Enter count of student class 101:");

count101 = int.Parse(Console.ReadLine());

Console.Write("Enter count of student class 102:");

count102 = int.Parse(Console.ReadLine());
Console.WriteLine("count of students class 101={0} ", count101--);
Console.WriteLine("count101={0} ", count101);
Console.WriteLine("count of students class 102={0} ", count102++);
Console.WriteLine("count102={0} ", count102);
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Console.WriteLine("count of students class 101={0} ", --count101);
Console.WriteLine("count of students class 102={0} ", ++count102);
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Console.WriteLine ("count of students class 101={0} ", count101--);
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Console.WriteLine ("count of students class 101={0} ", count101);
Count101--,
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Console.WriteLine ("count of students class 101={0} ", --count101);
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--count101,
Console.WriteLine ("count of students class 101={0} ", count101);
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Console.WriteLine("count of students class 102={0} ", count102++);
Console.WriteLine("count of students class 102={0} ", ++count102);
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intx=12,y=-12;

Console.WriteLine ("x={0} y={1}", x++, ++y);
Console.WriteLine ("x={0} y={1}", --x, ++y);
y = ++X;

X = y--;

Console.WriteLine ("x={0} y={1}",x,¥);
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int a=5+7;
string s= "ali"+"reza";
string count="count of pencil : "+100;
Cnz o ygiws ol aoes

Sadd g led [y C0UNT S A (gbd o (glgimn diligi 1) YU oS dxdad dol py SO 0 ;{2‘:}
J

DS Az g ) oS axkd 4
string s = "ali";
s+="reza";
Console.WriteLine(s);
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Console.WriteLine('flag = {0}",a>10);
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int iranWater = 190;

Console.WriteLine(" The average consumption in IRAN ->" + iranWater);

int worldWater = 135;

Console.WriteLine(" The average consumption in WORLD -> " + worldWater);
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Console.WriteLine(" Is iranWater > worldWater:{0}" );
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bool flag=false;
int score=7,
Console.WriteLine("score = {0}",score);
Console.WriteLine("is student passed:{0}, is score=7:{1}",flag==true,score==7);
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int a=5, failed=9, passed =15;
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passed>=12

failed +2 < passed -a

passed !'= 20

failed == passed —a
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int numi;
Console.WriteLine("Enter num1 : ");
numl=int.Parse(Console.ReadLine());
numl++;
num1*5;
--numl;
num1/2;
Console.WriteLine("num1={0} ", numl);
Console.ReadKey();
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bool result = true;

Console.WriteLine(result > 0);

string s1 = "Ali";

string s2 = "Reza";

sl +=5s2;

s1=s1-s2;

float =100 - s;

s1=-s1;
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int booklet, children;
Console.WriteLine("Enter number of booklet : *);
booklet = int.Parse(Console.ReadLine());
Console.WriteLine("Enter number of children : *);
children = int.Parse(Console.ReadLine());
int count = booklet / children;
Console.WriteLine('count={0} ", count);
Console.ReadKey();

WS a1y aol g
DS eSS 1y Jgaz 00,5 04lg 5 Jedz mllas | duwhe sladoy g laa> 280 slass

95 bazw sloxs | as 80 olows
Yoo O
Yoo




s g gl lio (25l 5 sl Slas b )15 [

S S BLL IS A QT ool &y ede g anliy ol slallas

ez PV o5 )15 las L o515 ol las wglas

bsel gl | =

AL ZTUPAT .

(B9 0 303/ 5910/ > asLl) 8 lastiwl Ol ez Slgoeyl | S8 Jo 100

—G&@Q)uwwsdldbgl)db)ﬂﬂdﬁf)lsg 'lJJYb
J 3

¥ (ool sl Shae 5l w0l osliiul slas &3, 5 Laseis Lo
oLl g glanslis 2
%‘&l;w‘ olf)lf ZQ&A
. - - JB b,
to O lee A Cpsi g glabal, sla s
Y e O)le 4l iy sladal) sl Sles (25 )54 U3 aids Ve ol
B
) Slalal sl Ko 55 (5 e



B i s lanlio ool sl Shas bl

i o, oc -

oy Lo 42538 oo Jma LT 8,15 0929 Jlos Ve 51 58,50 5 Jloo 10 51 2aS o3l Lo ligd oy o L]
Sl 0l 50,1 45 sz i s gl p3Y Lyl LT Sl VY o)

Slp o)l (S labpd oS 5 b (old ool 9 et 95409, (Silate Slbes b Jod cnl 5l (Bl o
ibte glo Slee Lol a5 5lke 0,5 ool ihte gl Sloe 5| ol oo sltuslio glo Sloe oS 5
el thaie OHle G all

s

Ly 3oy pByl S gilwanss 1) Ja8 ol 5L aS s

oS sl Lock ol b (glog s I
DS 35lg Main wie jo 1y g5 oS axkad [
byte X, y;
y = byte.Parse(Console.ReadLine());
x = byte.Parse(Console.ReadLine());
Console.WriteLine((x==2) && (y==5));
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byte X, y;
y = byte.Parse(Console.ReadLine());
x = byte.Parse(Console.ReadLine());
Console.WriteLine((x==2) || (y==5));
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string weather;

Console.WriteLine(" weather:");
weather = Console.ReadLine();
Console.WriteLine("weather is not cloudy: {0}", weather!="cloudy");
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Console.Write("Enter num1:");

int num1 = int.Parse(Console.ReadLine());

Console.Write("Enter num2:");

int num2 = int.Parse(Console.ReadLine());

Console.WriteLine(" {0} greater than{1} -> {2}",num1,num2,num1>numz2);
Console.WriteLine(" {0} less than {1} > {2}", num1, num2, numl < num2);
Console.WriteLine(" {0} equal to {1} > {2}", num1, num2, numl == num2);
Console.WriteLine("{0} not equal to {1} > {2}", num1, num2, num1!= num2);
<)

Console.WriteLine("Enter an integer:");

int mylInt = int.Parse(Console.ReadLine());

bool isLessThan10 = mylint < 10;

bool is Between Oand5 = (0 <= mylnt) && (mylnt <= 5);
Console.WriteLine("Integer less than 10? {0}", isLessThan10);
Console.WriteLine("Integer between 0 and 5? {0}", isBetweenOANd5);
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if (x=="bicycle")
Console.WriteLine("Playing");
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Console.WriteLine("Enter your choice // 1 or 2");
byte x = byte.Parse(Console.ReadLine());
if (x==1)
Console.WriteLine("Pay bills™);
if (x==2)
{
Console.WriteLine("Pay bills™);
Console.WriteLine("reduction of traffic );

}
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if (light=="red")

Vehicle_Condition = "stop";

else

Vehicle_Condition = "move";
Console.WriteLine(Vehicle_Condition );
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string day = Console.ReadLine();
if (day == "odd")//condition true
{
Console.WriteLine("Studying");
Console.WriteLine("English class");
Console.WriteLine("Say praing");
Console.WriteLine("Visit Grand");
}
if (day == "Even") //condition true
Console.WriteLine("Studying™);
Console.WriteLine("gym");
Console.WriteLine("Say praing");
Console.WriteLine("c# programming Class ");
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Console.WriteLine("Enter the floor");
int floor = int.Parse(Console.ReadLine());
if (floor #.2==0)
Console.WriteLine("Elevator A");
else
Console.WriteLine("Elevator B");
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if (age>=18)
status="Allowed";
else

status="Not Allowed";
Console.WriteLine("status");
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Console.WriteLine("How old are you?");

int age = int.Parse(Console.ReadLine());
string s;

s = (age >=18) ? "Allowed": " Not Allowed";
Console.WriteLine Status (s);
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Console.WriteLine("Enter your user name");
string user = Console.ReadLine();
Console.WriteLine("Enter your password");
string pass = Console.ReadLine();

it (user == "reza")

if (pass =="123456")
Console.WriteLine("Welcome " + username);
else

Console.WriteLine("The password is incorrect");
else

Console.WriteLine("Unkown user");
Console.ReadKey();
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Console.WriteLine("Enter the air temperature");

int temp = int.Parse(Console.ReadLine());

Console.WriteLine("Enter the weather conditions: sunny /cloudy / partly cloudy/ rainy");
string Condition = Console.ReadLine();
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it (temp >19)
it (Condition == "sunny")
Console.WriteLine("Excellent™);
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if ((temp > 19)&& (Condition == "sunny"))
Console.WriteLine("Excellent");
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if (temp < 19)
{
if (Condition == "sunny")
Console.WriteLine("'suitable");
if (Condition == "partly cloudy ")
Console.WriteLine("'suitable™);

}
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if (a>b) && (a>c))
if (b>c)
Console.WriteLine("{0} {1} {2}", a, b, ¢);
else
Console.WriteLine("{0} {1} {2}", a, c, b);

else if (b >a) && (b >¢))
if (@a>c)
Console.WriteLine("{0} {1} {2}", b, a, ¢);
else
Console.WriteLine("{0} {1} {2}", b, c, a);

else if ((c > a) && (c > b))
if (@>Dh)
Console.WriteLine("{0} {1} {2}", c, a, b);
else
Console.WriteLine("{0} {1} {2}", c, b, a);
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int count = 0;
if (b + ¢ >a) count++;
if (a+c>b) count++;
if (a+b>c)count++;
if (count == 3)
Console.WriteLine(true);
else
Console.WriteLine(false);
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if(a+b<=c)
Console.WriteLine(false);
elseif (a+c<=h)
Console.WriteLine(false);
elseif (b +c<=a)
Console.WriteLine(false);
else
Console.WriteLine(true);
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Console.WriteLine(a+b>c&&a+c>b &&b+c>a);
ol sladisles don a5 Cunl trUE Sloj Klas (pl (39,5 45 gl oo axgie 1S B0 && Klae & 3]
b true

S gl i 0 b 09 1) s 00,8 12211 doli

22 09y pIS Lo Hla 4y .0usS s lio o b g ouulls 1) YU g,y ¥ (slodnigy g v 5ol -
?'ﬂ |

(3255 oS 095 5901 i 31) -oams 9 || Ko 1 o0liiianl b 1y pgus 095 =




bttt i

Yooty N> G

> ySdoe Lyl

(‘sbé 0)-05/ ‘5)9‘0/& PW) o)l..\.il;i.w| 8 ), ] ‘Q|M. ub"-b&)‘}f‘)
(... 9 O&O SOLO}

VTl i a e 0 s - o w5 A
S ol lallt 55, 5 i S, o Jitil o5 IS o lSo
JULISECNE LSRR ESY ) osiwd (5 5 )
- aeby sl celie (b8 LSl parsis i 51 595 gl Jlgis
Yooy g e slaifasly gleinis oy Jod LB b

Q]"\S 43,8510 :le;

) 5[5,
U5z glaifacl  slaiis, pusy I HB

S s | QT Slools ¢ fad G il 0 b aS s g &laeb p m.«'b‘?‘so
aS ol ] Season pb b guy o 039y
o g MAIN Wo 10 00,5 oSS 1) 35 A5 dxlad

if (season=="Bahar")
Console.WriteLine('Farvardin, Ordibehesht, Khordad");
else if (season=="Tabestan")
Console.WriteLine("Tir, Mordad, Shahrivar");
else if (season=="Paeiz")
Console.WriteLine("Mehr, Aban, Azar");
else if(season=="Zemestan")
Console.WriteLine("Dey, Bahman, Esfand");
else
Console.WriteLine("Season Wrong");
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string season ;
Console.Write("Enter Season:");
season = Console.ReadLine();
switch (season)

case "Bahar":
Console.WriteLine("Farvardin, Ordibehesht, Khordad");
break;

case "Tabestan":

Console.WriteLine("Tir, Mordad, Shahrivar");
break;

case " Paeiz "

case "Zemestan":

break;
default:
Console.WriteLine("Season Wrong");
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long x = long.Parse(Console.ReadLine());
X=X % 10;
switch (x)

case 1:
Console.WriteLine("5");
break;

case 2:
Console.WriteLine("3");
break;

case 9:
Console.WriteLine("7");
break;

case 0:
Console.WriteLine("9");
break;

}
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Console.WriteLine("What’s your favorite color?");
Console.WriteLine("[r] red");
Console.WriteLine("[g] green™);
Console.WriteLine("[b] blue™);
Console.WriteLine("[w] white");
Console.WriteLine("[y] yellow");

Console.Write(" Enter your choice: ");

char choice = char.Parse(Console.ReadLine());

switch (choice)
{
case ‘r’:
Console.BackgroundColor = ConsoleColor.Red;
Console.Clear();
break;
case ‘g’:
case ‘b’:
Console.BackgroundColor = ConsoleColor.Blue;
Console.Clear();
break;
default:

}
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Console.WriteLine("enter your device");
string x = Console.ReadL.ine();
switch (x)
{

case "keyborad":
case "Mouse":
case "Scanner":

Console.WriteLine("{0} is input device ",X);
break;
case "Monitor":
case "Printer":
case "Headphone™:

Console.WriteLine("{0} is output device ",x);
break;
case "Modem"™:
case "Network card":
case "Audio Card":

Console.WriteLine("{0} is Both Input—OutPut Devices ", X);
break;
default;

Console.WriteLine("'unknown");
break;

}
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